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QUESTION 1

The application of the Protocol Bridging pattern automatically results in the application of the Data Model Transformation
pattern.

A. True
B. False

Correct Answer: B

QUESTION 2

By applying the Service Broker compound pattern, you establish an environment capable of carrying out which of the
following patterns?

A. Data Model Transformation

B. Data Format Transformation

C. Transaction Protocol Transformation
D. Policy Transformation

Correct Answer:. AB

QUESTION 3

The application of the Contract Centralization pattern requires that runtime access policies be implemented.
A. True

B. False

Correct Answer: B

QUESTION 4

The Process Centralization pattern is most commonly associated with which service model?
A. utility service

B. entity service

C. task service

D. hybrid service

Correct Answer: C
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QUESTION 5

A common XML-based technology used to apply the Data Model Transformation pattern is:
A. XHTML

B. WS-Policy

C. WSDL

D. None of the above.

Correct Answer: D
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